MATHS TEST – REVISION

1.
(a) 3620 + 98 + 257 + 1089


(b) 1350 + 2576 + 9 + 3258


(c) 8214 + 58 + 69 + 4257


(d) 2427 + 1575 + 956 + 848


(e) 3277 + 2159 + 850 + 8

2.
(a) 7208 – 2509

(b) 6340 – 1871

(c) 5200 – 2404

(d) 7050 – 2074

(e) 8321 – 2069

3.
(a) 23 X 45


(b) 17 X 73


(c) 28 X 47


(d) 34 X 59


(e) 47 X47

4.
(a) 2116 ÷ 46


(b) 1820 ÷ 28


(c) 1443 ÷ 39


(d) 1444 ÷ 76


(e) 1932 ÷ 84

5.
(a) €6.89 X 97


(b) €32.76 ÷ 12


(c) 4.87 X 8.6


(d) 95.19 ÷ 57


(e) €2.51 + 99c + €10 + €0.76

6.
Find the price of 67 packets of fruit at 85c each.

7.
A dress costs €47.95 How much do 19 such dresses cost?

8.
It takes 26 oranges to fill a bag. How many bags can be filled from 1274 oranges?

9.
A history book costs €2.78 How many history books can be purchased with €80.62

10. A sweatshirt costs €9.76 more than the tracksuit bottoms. The price of the tracksuit bottoms is €36.99 How much would you pay for a sweatshirt and the tracksuit bottoms?
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